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e Please check that this question paper contains 8 printed pages.

e (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before attempting it.

e |5 minute time has been allotted to read this question paper. The question paper will be
distributed-at-10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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BIOLOGY (Theory)
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(iv) @ — 7T I GEIT11 G 22 TG-IT1T 97 TR & &, A% F97 T4 b H1 & |
v)  GUE— g F Y97 GEIT 23 Foo JTETRA 97 TR bl 1 & |
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(vii)  FIT-TF § GHT T HI3 laebeq 761 &, 3¢ 47 & 371 a7c7 U 97 H, di7 371 aic? b
ST § 37K gie 371 qrer g4 @41 5991 4 Fiadt aa7-lamey I v 8 | g% st
H1 UG J971 & &1 [dHcTl T G P T J97 57 HAT & /

General Instructions :

(i) There are total 26 questions in five sections in the question paper. All questions
are compulsory.

(ii)  Section A contains questions number 1 to 5, very short answer type questions of
one mark each.

(iii)  Section B contains questions number 6 to 10, short answer type-I questions of two
marks each.

(iv)  Section C contains questions number 11 to 22, short answer type-II questions of
three marks each.

(v) Section D contains question number 23, value based question of four marks.

(vi)  Section E contains questions number 24 to 26, long answer type questions of five
marks each.

(vii)  There is no overall choice in the question paper, however, an internal choice is
provided in one question of two marks, one question of three marks and all the
three questions of five marks. In these questions, an examinee is to attempt any
one of the two given alternatives.

gug — b
SECTION - A

1.  hIBIhIAT H 39 STIEAT T ATH TARIU T5TEH IR 319+ B HISThI W IMhHNT Hledig | 1

Name the condition 1n vertebrates where the body attacks self-cells.

. SHINUF 1 i TARgU | 1

Write the function of a Bioreactor.

3. M aul g8 9Tet ekl (ATAT-TUaT) ¥ Teh Uiy (holl SI1SS ) STeteh ol oI &1 & |
38eh SIeh[ b SIHIC1SY TTRIU | 1

A colour blind boy 1s born to a couple with a normal colour vision. Write the
genotype of the parents.
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4,  Tohedl g IRiEATaAl T Ieoi@ HIfST I &&= i 9Tl Sdl § JHB-HAdA &
HIHL TG4 @ | 1

Mention any two conditions that enhance the chances of syngamy in organisms
exhibiting external fertilization.

5. TURIY g1 Wehiehd AT b AT TohU T IR oh 370 H 3eh g ITH 5y feiRaT | 1

Write the conclusion Griffith arrived at the end of his experiment with Streptococcus
pneumonia.

dgig —d
SECTION - B

6. ATl AUT T S8 qiel hl U GiY Icq~ hid b ToTU ofISl hl ATaedehdl &l gldl | o AU
qie fohH TehT 30T~ hid & ? UH 1 31 3q18T SIS FST&H = 9TY 361 TehR 39 Bld
2 | 2
Plants like potato, sugarcane do not require seeds for producing new plants. How do

they produce new plants ? Give two other examples where new plants are produced 1n
the same way.

7. ToRdl GHETE H WRA{eT shl {HehT ShT IUH ZhITSTT | 2

Explain the role played by predators in a community.

8.  HAYYUH WISl 7T Hfdstieash (VIIaTalieh) qUT $8ehl WIS hid Tl AT 1 4 feifgy | 2

Name the first antibiotic discovered and by whom.

0. IR fauT =sF & O shibee TaaIieH 9 8 & 10T I BidT & 7 Teh 3T g1
39 I hl AT hifoU | 2

37ET
ABOQO R 9 Tg-IHISdT (hi-SIMH=9) T Ush 3751 3280 & | 31 <cd 9dr8u | 2

What happens when chromatids fail to segregate during cell division cycle ? Explain
your answer with an example.

OR
ABO blood groups 1s a good example of co-dominance. Justify.

10. SHRIATTRREE o shid d WSk 70T o HRUT I9ehT ITANT Sd hHeh o &Y H TohIT AT
2 7 3 Sfidl & Sfig w1 am fafgu | 2

What 1s the pathogenic property of baculovirus, used as a biological agents ? Name
the genus of these organisms.
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gug — T
SECTION - C

1. (31) ‘Uorsi sfspan forll shEd & 7

(@) UH < 3NuierR o 9™ faRau foaeht IT=TT Uesit o GI&T0T bl ITsidT § 82 6 fou
IEXRINIGINE

(") o1 R0l g Toh W o M H (& dTel AT 9= UeAsi| Ud ¢qT ifed & 7 3

(a) What 1s an ““allergic reaction™ ?

(b) Name any two drugs used to quickly reduce the symptoms of allergy.

(c) Why do more and more children 1n metro cities of India suffer from allergies
and asthma ?

12. TA=ferfga arfaest | 31, 311, 3, 3, 3 d°T S hl T8I hifolU : 3
TSTISH 1 W /
N - Hid EAD)
(i) 3 T (eh[hd 3
(1) 3 3 3T If9T H Jfae
FRIEh
(iii) wfeH 3 >

Identify a, b, ¢, d, € and { in the following table :

Name of Enzyme/ ,
‘ _ Source Function

Biloactive Melecule
(1) a Streptococcus b
(11) C d Immuno-suppressive agent in

organ transplant patients
(111) Statins e f
13. T&1 o 1oT0 3uctey fohegl g 3113 J 1 o AW TeTRIT a1 37kl 1 Ugfd Sarsy | 3

List any two types of IUDs that are available for human females and state their mode

of action.

14. 3. SIdTs FAMT FdTgh pBR322 | (i) 901 A1 F@eh, (ii) Ori AT (iii) rop hl HHbI

SRIENE 3
Mention the role of (1) selectable marker, (1) Or1 and (111) rop 1n E. coli cloning
vector pBR322.
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15. 93 IS ShTAshH o1 3e3d TTRIU | b BTH Ta9H oh 3TTa3eh TN h1 JUH <hifaTT | 3

Write the aim with which animal breeding programmes are carried. Describe the
essential steps to be followed in Poultry management.

16. (31) WS TSI <hl HARE 1 bl == SHIZT TAT (i) TTATH Y&, (ii) e ieh Ieh,
(iii) TTHI 9eeh T (iv) did TUS (ShTUd ¢IH) ol ATHTIhd shil |
(@) ia fig 1 et fafau | 3
YT
(3A) IATIAsSI b SHRE H G FieTehl bl Jig T U = SHET qAT (i) i,
(ii) T =k, (iii) SISV R TH (iv) SSTUE hi AHTTehd sHITT |
(9) SISIUg gR ol Jb1 T(TRAT | 3
(a) Draw a diagram of a sectional view of human ovary and label (1) Primary
follicle; (11) Tertiary follicle; (111) Graatian follicle and (1v) Corpus luteum.
(b) Write the function of corpus luteum.
OR
(a) Draw a diagram of Pistil showing pollen tube growth 1in angiosperm and label
(1) Stigma; (11) male gametes; (1) micropyle and (1v) Ovule.
(b) Write the function of micropyle.
17. 3T Sl T Tdsh-iehl oh IUANT G SHIIH o Icq1gH H o1 Il 2t ? 3R St UH T dehriloh
Bl ITANT <hieh Weil foTeil = SHIT Sl SCUTGH hH Thl 7 3
What was the challenge for production of insulin using tDNA techniques ? How did
El1 Lilly produce insulin using tDNA technology ?
18. = € 78 dliciehl H.34; 311, 3, 8, 3 3T 3 <hl g hifolu : 3
<l TEhi i
%.49. k=1 re || TYhRI TER 3G
e
i A 3 3 _FAATES
i, FAIEEE |3 3 P RRIRIEAES
ii. | iR | FwRiEeEs |3 SERSSIRIEES
Identity, A, B, C, D, E and F 1n the table given below :
S, Crmponent- Chem}cal linkage
No. Component-I 1 bonding the two Product
components
1. A B C Nucleoside
11. Nucleoside D E Nucleotide
111. Nucleotide Nucleotide F Dinucleotide
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19. 39 9 &1 9 Tarae fSo@ sz’ Sie faaia fopuw a8 | 3tad 3ergwor hi 98r—dar 9
WY ST Toh SIT-Senfieh! a3t 5 Sh1e’ ST shT IUANT AT T vy TohaT | 3

Name the organism from which the ‘cry’ genes are 1solated. Mention with the help of

suitable example why and how bio-technologists have made use of ‘cry’ genes.

20. UISHATRII o AU T dad IUAN o TRUMTEEY YISh! shl HS 5 JSIIaAl ol
forehTd 8311 | SARSAT HINIT Teh UHT BHT Tohd TehR G99 83T | 36 TR b fshId ol o
$ed & ? 3

Excessive and continuous use of pesticides has resulted in evolution of some new

species of pests. Explain what must have led to this. What 1s this type of evolution

called ?

21. <l ISR <hl HEHAT & HHETSY, Toh T AUT Fehii] oF WTfieh IUNRRIS & 1811 8d $
TarTSTe 94l A b8 TSI STThIIh I Uel UHTA b JIehal bl Toehld TohaT | 3

Explain with the help of two examples how certain plants have evolved
morphological and-chemical defenses against primary consumers such as cows and

goats.

22.  FTEI9H T AT shi 311G i fohd TehR T 3T a1 AT 8 7 SHI TR o T I Teh 3

3CTEUT A-q3AT © qUT Teh 3T Uiei | ot SI1T | 37k g0 UGRId 39 T9shid UshH i
a ferlRgu qen =mre | hifu | 3

What type of organs eye of an Octopus and that of a human called ? Give another

example from the animal group and one from the plants of such organs. Name and

explain the evolutionary process they exhibit.
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Wi — Y
SECTION - D

23. 1 SIIfTEhT T 3hifd o 91¢ 36 I8 TR H UTHIU U9 &l &1 | & aTel Icieh SAih o
o T Teh U~ 38T &9 =T 2 | 379kl 3794 USI9 o e o Shi-o9 |
SAFEI-oh Y (3-AEH) b TG aUT TTY T T ol A1 B b [T hal
AT —

(31) fafgn, $-aw (3.379Rm) FE A g ?
(§) warsu foh, 3T 5-3TURIY o g9 o faug 9 fo=nf=t ol frd TR SIrees il 7

(F) $-3AYRIE b IS99 o gy T [Iehidd UTI o TaehTEa3iiet <01 bl fohd bR ITTIT TehdT
8 7 4

With the revolution 1n information technology, now it has become an integral part of
everybody’s life, living in rural and urban India. You are asked to address the
gathering of students of eco-clubs of your neighbourhood schools on generation and
management of e-waste.

(a) Write how e-waste 1s generated.

(b) Explain how would you address the awareness 1ssue of e-waste management
amongst the students.

(c) How have the developed countries exploited the developing countries with
respect to e-waste managements ?

disg — g
SECTION - E

24, () 9ME Hu=H (ST BICATESITH ), N AHAR W & TS Sl HRHH § THT STl
2, oh TAIf <IC0TT <hT U ShITTU |

(§) 39 hRIHH H Hgd gdsy | 4+1=5
AU

(31) AATAYSIT TATOT YT WY ob sie Ueh Ul a1 Ueh FAFHMAT [TRgU |

(9) godi giel | foresfid Ul o giear shi SATEAT ShifWT Sl I9H E&-TET0T ]
FalcHTiEd T T -TAT0T 3l FIcHTed hid & | 5

(a) Explain the steps involved 1n in vitro tertilisation popularly known as test tube
baby programme.

(b) State the importance of this programme.

OR
(a) State one difference and one similarity between geitonogamy and xenogamy.

(b) Explain any three devices developed in flowering plants to discourage selt
pollination and encourage cross pollination.
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25. (37) BY 9 =9 F 3794 YINT 19 TN : FshHOT, IHY0T 94T 3T9eh<0 H fohU | Tceh =0T
hl SIS hITIT |

(§) ITH 9O o YR I 3 5y a1 He=q hl ST I | 5
31T

STl | HTEIThIHIT o Yo TUT HTEITehIhUT o T I H Jad IE! ATH TAT Ta

U] Gt STAHT o 31801 <hl HERIAT H UTehideh 0T g Tershrd <hl ST HITST | 5

(a) Hershey and Chase carried their experiment in three steps : infection, blending,
centrifugation. Explain each step.

(b) Write the conclusion and interpretation of the result they obtained.
OR

Taking an example of white-winged moths and dark-winged moths of England in pre
and post industrialised era, explain evolution by natural selection.

26. (31) Tusell vrdredl & 310 H o4 3TT=sTied YH 1 Tided foTiaT |
(&) v < mifefafi s el Hife fmes wmror sHgeE g |
(|) e & U Sdigy |

(€) SIS okl Tk hT Teh U HAT3T | 1+2+1+1=5
COCH
() Seerd! UATERuE TRICfa & 91y ft TSR o BT84 Ud 9%=qT 4 &l 1@ UiadHi
oh Ue 9L STEAT <hiWTT |
(9) = EHCE YT ShHeh ohl SREAT it |
(F) 3TN <hl TeTIdT | UTetHes qT fgdieres 3tgsraur 1 favg Hifs | 142+2=5

(a) Write the percentage of land area that was covered by forests by the end of the
last century.

(b) Describe any two practices that led to deforestation.
(c) State the consequences of deforestation.
(d) Suggest a method to overcome deforestation.

OR

(a) Comment on the pattern in which all communities undergo a change in
composition and structure with changing environmental conditions.

(b) Explain ‘Climax community’ and ‘sere’.

(c) Daifferentiate between primary and secondary succession with examples.
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